

Calcula

$77.719 + 65.927 + 77.547 = \boxed{}$

$76.226 - 14.852 = \boxed{}$

$64.966 + 50.696 + 54.556 = \boxed{}$

$84.610 - 38.389 = \boxed{}$

$66.912 - 40.168 = \boxed{}$

$58.882 + 97.954 + 86.562 = \boxed{}$

$65.338 - 22.771 = \boxed{}$

$56.801 \times 95 = \boxed{}$

$99.068 \times 47 = \boxed{}$

$73.909 \times 86 = \boxed{}$

$86.039 \times 35 = \boxed{}$

$94.145 : 5 = \boxed{}$

$\text{resto} = \boxed{}$

$16.514 : 2 = \boxed{}$

$\text{resto} = \boxed{}$

$82.351 : 54 = \boxed{}$

$\text{resto} = \boxed{}$

$13.167 : 57 = \boxed{}$

$\text{resto} = \boxed{}$

$43.738 : 27 = \boxed{}$

$\text{resto} = \boxed{}$

$32.726 : 59 = \boxed{}$

$\text{resto} = \boxed{}$

$38^2 = \boxed{}$

$45^2 = \boxed{}$

$76^2 = \boxed{}$

$9^3 = \boxed{}$

$96^3 = \boxed{}$

$73^2 = \boxed{}$

$20^2 = \boxed{}$

$21^3 = \boxed{}$

$\frac{4}{8} + \frac{2}{8} = \frac{\boxed{}}{\boxed{}}$

$\frac{6}{10} - \frac{4}{10} = \frac{\boxed{}}{\boxed{}}$

$\frac{3}{7} + \frac{1}{7} = \frac{\boxed{}}{\boxed{}}$

$25 \times 5 + (45 : 9) + 28 : (2 \times 2) = \boxed{}$

$9 + 3 \times 2 + 12 : 4 = \boxed{}$

$8 \times 3 : (4 + 2) \times 3 = \boxed{}$

$49 : (4 + 3) + 25 \times 3 = \boxed{}$